
MATH F113X: Introduction to Scheduling

Goal Learn about the following terminology: schedule, digraph, processors, finishing time, optimal fin-

ishing time, optimal schedule, idle time, critical time, priority list.

1. Motivating Example Fixing a Flat Bike Tire

label task time dependence

A buy a replacement tube 20 minutes

B find tools 5 minutes

C remove tire and tube 10 minutes

D replace tire and new tube 10 minutes

E repair old tube 10 minutes
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2. Terminology

(a) schedule

(b) digraph

(c) processors

(d) finishing time

(e) optimal finishing time and optimal schedule

(f) idle time

(g) critical time

(h) priority list

3. General Example: Create a digraph. Make a valid schedule with TWO processors. Determine

values of finishing time, idle time and critical time.

label/task time dependence

A 2

B 1

C 2

D 3 A

E 6 A,B

F 8 B,C

G 5 A,C
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ordering of tasks that respects dependencies .

model of an event where • vertices are tasks
.

• vertices labeled with time . directed edge for v to w if

W cannot start until v is completed
people / machines / entities

completing the tasks .
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Can we do better ? ?


